EARAROBREBRT —5 XN—ZXBISH—F

2022648108 (B) 1EIKIR4E

Iy 7% 5>%3@toP

‘(fﬁ} W ‘I%EH?’JFE‘?] ~ | & 10000 =

[AE%] 1 7%&:2,500,000 § ~ 237&:875,000 @ . 37&:500,000H  435:250,000H . 53&:125,000 9

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
4 5 | LUAESEE 1:42.1 3-3-2-2 [39.3] - 1 533 | HRIEESAI (KR)
118|9 | ¥ARILZPARUT 5.0 =) o) | ) BSTLYRISTSTAFY
RIN—=RZNY B:ALIVLFoa EvIUy RI7—L4
3, o~ s 5 | AR 1:42.2 2-2-3-3 [39.6| — 4 497 | BlE— (KiR)
215|585 |97PT—2aY 57.0 &) (+6) | AR
RIIART—=ILYF— B:FVI/RINS mi)ll PEER
s " — BAE : ~7-4- . - IVMEEE (KR)
37| 7| PRYawISYO o6 | BAE 1.(422).5 7-7-4-4 | 38.8 9 (4—91(; um% bl
RIV—ZAUVR B:AUIA45Y pelaie]
" f— — ER 42, -1-1- . - ERE (KR
4N 4 RYUST AT 4—=)b s 56.0 uﬁ; 402 2 gg %%W;
RIFARNSIVR B:yz—ryITUwy NLE A
~ ROB— 143, -10-9- . - RIESAI (KR)
N : BPECAVZE 48 o 1{123)0 10-10-9-8 | 38.6 5 (&_3?3) e bl
RiI—YYTFT—R BAFURTAI PR
N 5 | EFG 1:43.3 6-6-7-7 |39.6| — | 10 | 465 |{EEEE— (KR)
61111 =LAV # %0 a1/2) w3 | I b=yvT (@)
RiPAINTTFH— B:h—DT4—TI/N— EEZIY R
S 4t 6 | BEISZIE 1:43.4 9-9-10-10 | 38.9| — 8 500 | BREHSLE (EEfE)
700 2| 1/ — MLV 54.0 172 1) %ZKHE
RPAINTPFF— B OhIETY EwvILyRI7—L
N n IS : -8-8- - BHE= (B[E)
s s FPSUXAATAI 4 5 56.6 1(.;/34.)5 8-8-8-8 | 39.1 7 (5+278) e
RIAR—RT 7Y B:FIWT 7 XHN—k N T—H5
“ N _ o7 | BEKE 1:43.8 4-4-5-5 | 40.6| — 3 | 461 |FEERIR (GKR)
9l7| 8| voNoO# 56.0 a1 ) |WRES
R:O—IRAUXA B STENRI— Bt &
=~y = 5 B4 | $AHE 1:43.8 5-5-6-5 | 40.2 | — 6 | 517 |1BEE= (@)
1018110/ 73 YRAT=T 7/ 56.0 (\F) (-4 | TAREEL
RIZAX—RT 7Y BINTYIINU— EiTre ]
@ 11— —BERIEI
13—7F— 4,5,9,8,10,1,7,6,2,3
20— — 4,5,9,8,10,1,7,6,2,3
IT=5r= 4,9,5,7,8,10,1,6,3,2
40—7F— 4,9,5,7,(8,10),1, (3,6) ,2
o ILRE
BB 9 2504 JA R 5-9 610M & 5-8 1,060 3ER 5-7-9 9,790H
B B 9 140 7-9 960M o 18 520) 1,240 3Es O/ 25,330H
5 310 5-7 2,970 oS- 1 9-5 1,880
7 610

ABIC OV TRUTEREERRODDZE. THRIIZEL.




